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QUESTION 1

A customer would like to integrate a HCP system into their corporate DNS. The customer provided you with the
corporate domain name (example.com) and the IP addresses of all the corporate DNS servers. Which two actions
should the customer perform? (Choose two.)

A. Create a HCP subdomain in the corporate DNS such as hep.example.com.

B. Create host entries for all HCP nodes such as node0O1.example.com.

C. Promote at least one HCP node to become an Active Directory server.

D. Delegate authority for a HCP subdomain to some or all HCP nodes.

Correct Answer: AD

QUESTION 2

A customer has implemented a HCP within their data center. They want to be able to back up the default tenant to VTL
locally. What should be enabled on the HCP to allow this type of backup?

A. HDPS
B. NTMP
C. HCPB
D. NDMP

Correct Answer: D

QUESTION 3

A customer has recently purchased a HCP 500. You will be performing the install. Which two describe how many LUNs
per node are required for installation? (Choose two.)

A.10OS LUN
B. 4 OS LUNs
C. 2 data LUNs
D. 4 data LUNs

Correct Answer: AC

QUESTION 4

As a HCP administrator, you are asked to create a data access account for the company CFO for HCP namespace
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Finance. The Finance namespace only allows read permissions, but the CFO wants the ability to edit everything. Which
three actions are performed to complete the task? (Choose three.)

A. Expand namespace permissions.

B. Apply purge on account.

C. Choose the account name.

D. Delete account name and re-create it.
E. Apply all under permissions.

Correct Answer: ACE

QUESTION 5

A customer will be using multiple namespaces in their HCP implementation. They want to use a single common protocol
to access all namespaces. Which protocol would you enable to support this?

A. CIFS
B. WebDAV
C.STMP

D. HTTP(S)

Correct Answer: D

QUESTION 6

A customer has a new HCP 500 with 10 storage nodes and 5 search nodes to be configured using the default
configuration. How many LUNSs will be cross-mapped if you are asked to configure switch zoning to support Zero Copy
Failover?

A. 15

B. 20

C.30

D. 45

Correct Answer: B

QUESTION 7

You are performing a new HCP 500 installation. Upon booting the nodes, you are not presented with a prompt to enter
Alt-E for entering the Emulex BIOS. How would you correct this problem?
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A. Return the nodes as faulty.

B. Perform the firmware update procedure.
C. Replace the HBA cards.

D. Reboot all the nodes.

Correct Answer: B

QUESTION 8

What is a valid HCP configuration?

A. 2 node HCP 300 with RAID 5 (5+1) DPL2
B. 4 node HCP 300 with RAID 6 (5+2) DPL2
C. 4 node HCP 500 with RAID 5 (5+1) DPL2
D. 4 node HCP 300 with RAID 5 (5+1) DPL2

Correct Answer: D

QUESTION 9

A customer is purchasing a HCP configuration to support 400,000,000 objects. Search is not required. What is the
minimum required configuration for this customer?

A. HCP 300 with 4 storage nodes
B. HCP 500 with 1 storage node
C. HCP 300 with 40 storage nodes
D. HCP 500 with 10 storage nodes

Correct Answer: A

QUESTION 10

With which number must the multicast IP address begin?
A. 10

B. 192

C. 236

D. 238
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Correct Answer: D

QUESTION 11

Which three replication types are supported by HCP? (Choose three.)
A. chain

B. many-to-one

C. one-to-many

D. bidirectional

E. link level

Correct Answer. ABD

QUESTION 12

You want to configure a HCP 500 system with Zero Copy Failover. When the LUNs are zoned to each node, what is the
difference in LUN numbering between the nodes\\' data LUNs and its cross-mapped data LUNs?

A. 32
B. 64
C.128
D. 256

Correct Answer: C

QUESTION 13

A customer has decided to acquire the entry level HCP 300. Which two hardware components will be included in the
order? (Choose two.)

A. four server nodes with internal storage
B. six server nodes with internal storage

C. rack and power distribution units (PDUs)
D. four server nodes with SAN switches

Correct Answer: AC

QUESTION 14
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A customer performed a search for an object that was recently added into the archive tenant being searched. The object
was not listed within the search results returned by the HCP search engine. Why did this happen?

A. The DPL2 volume had not yet been mounted to the search node(s) for access.

B. There was not sufficient time allowed for indexing the most recent data added to the archive.
C. The attribute for the new data\\'s namespace was set to "hidden".

D. The customer had not yet enabled DPL level two or above for the namespaces in this tenant.

Correct Answer: B

QUESTION 15

A pre-assembled HCP 300 has been configured using the default factory settings. The next step is to connect the HCP
to the customer\\'s corporate network. What information is required from the customer? (Choose two.)

A. the front-end IP addresses and subnet mask for the HCP nodes
B. the multicast address to be used by the HCP nodes

C. the IP address of the front-end gateway router

D. the MTU size to be used by the HCP nodes

Correct Answer: AC
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